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Name:

Angle Sum and Difference Identities: Apply the angle sum and difference formulas for
trigonometric functions

The expression cos4x ces 3x + sindx sin 3x is

equivalent to
1) SInx _ . . .
2) sinTx 6 3mS0%cos 30° + cos 50° s 30° 1s equivalent to

. 1) cosB0°
3) COSX 2) si, 20°

37 i
4) cosix 3) cosdl®
4) snél®

The expression cos40° cos 10° + sind 0% sin 157 15

equivalent to : . : i
N 7 The expression cos 70° cos 107 + sm 70%sm 10° 1s

1) cos30° .
2) cos50° equivalent to
3) sin30° 1) ccséﬂz
4) sm30° 2) cosdl

3) sin60°

4) sindl°
Cos70° cos 40 - sm 70° 50 407 is equivalent to
{) cos3l® _ o .
2) cos70° 3 The‘ expression cog 307 cos 707 + s 80° sin 707 18
3) coslil? equivalent to
4) sm70° 1) cosll®

2) cos150°

3) anll®

4) sinl50°

Which expression is equivalent to
sin22°cos 187 + cog 22° sin 1897

1) sind® . ‘ o ’
2) cns4® 9 The. expression sin80° cos 707 + cos 807 sm70° 18
3y smdl® equivalent to
4y cosdl® 1} sinll®

2) cosld®

3} smls0?

4) cos 1407
The expression cos80° cos 207 — sin80° 5 20° 18
equivalent to

1) «cos 6ae o . L
2) o5 100° 10 Ifsmx x~sxlny =a and cosx = cosy = £, then
3) cin 1007 CDS(}R‘:“}{J ]:S
4) sing0® 1) 3 -a”
2y priat
3) 2b-ia

4) 2b+2a



